N & o & AF & H Al A
20138 & =0l &k LBHSIH MR ~ M
2AM: N2
BE: NEHY FB(LUDTDHI/LBHE)
el MHEYE NEAHN=- &2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Iy 2,596,552 2,535,617 60,935
ANETHE SE5 (L SHEY /YY) 503,712 442,777 60,935
HElE NYM= &L 341,563 307,843 33,720
Ni==2| et A =Y 246,624 222,843 23,781
101 @124l 13,357 12,367 990
04 D12t 22 HEE = 13,357 12,367 990
OX&AHIIAl & 283 LRAH 13,357
ool 38,880 x2H x 126 9,798
oFXtrg 38,8803 «2H x26 2,022
o30AHZT S HEE= 1,537,000& 1,537
201 et 133,000 108,000 25,000
01 At 22l 48,000 48,000 0
O g+t 40,000,000 40,000
O AIMSn2te] & MSBEA 3,000, 000& 3,000
O= &l 5,000,000& 5,000
02 =24l 85,000 60,000 25,000
O3 HA 85,000,000 85,000
202 Oddl 28,310 28,310 0
01 = LH o4 1l 28,310 28,310 0
OZ2A=F 0 28,310,000 28,310
203 YR =] 4,000 4,000 0
03 A FAH S =AY 4,000 4,000 0
OYR =&l 4,000
o2 EZAMA €2 FRF& 1,000,000 1,000
ocHEAMNME=HRE =& 1,000, 000& 1,000
oHIUMZHIZ LHZEA HRF2
2,000,000 2,000
301 et A Z 10,000 8,172 1,828
12 J|EBtE &= 10,000 8,172 1,828
OHAEAMA ldEE XA 10,000
ocdAEANI 43H X2 4,000,000 4,000
oXNEM S I 4,000,000& 4,000
ocMEES Il X 2HAHIH 2,000,000& 2,000
303 &3 10,000 5,000 5,000
01 Z& = 10,000 5,000 5,000
O=SHaL= 243 10,000, 000& 10,000
306 ¢ 2 7,500 5,000 2,500
01 &3 7,500 5,000 2,500




EM: NS
HE: GEHY 5 (LUITHT /L)
SR HESE NHNS =E EERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OXYMHARRH EHZ
50,000,000,000& x0.015% 7,500
402 SI2F X0l & 11,014 24,404 A 13,390
02 OI2HCH &4 AF S HI 11,014 24,404 A 13,390
OKXNLHT-saveL Z2SHAAE KAEL
308, 1302 x12& 3,698
OXNEAMANE &L DBECHAAEH SXE
356,593 x12& 4,280
OJIAH XY EAALY S8
253,000 x12& 3,036
403 XX SHHS K20 & 29,443 27,590 1,853
02 BII2SHCHSCHE AL HI 29,443 27,590 1,853
OE=XNYUNEBSAAE I 22|
22,838,000 13| 22,838
OSE ANEAHAAE(KEA EH)FX 22
4,597,000 13| 4,597
OFHABAAE SX 22 2,008,000 13| 2,008
NEA A2 23 94,939 85,000 9,939
201 2Et2Ay| 61,939 52,000 9,939
01 AP 22| d| 30,000 27,000 3,000
OgBtL=2H| 29,000,000& 29,000
OF=1=1:] 1,000,000 1,000
02 Z2=2=2494| 31,939 25,000 6,939
OZ222=22H A 28,000,000& 28,000
OXEHed| 3,939,000& 3,939
303 Z& 2 27,000 27,000 0
01 A2 27,000 27,000 0]
(@FEPNE=: 27,000
oMY M A=ZAZ(AA) 8,000,000& 8,000
oHEAMAESL SHE TIOAIY
7,000,000& *23| 14,000
cFAEE Ne4HE TAZ(RIBENE)
50,000,000 *10% 5,000
402 SI2F X201 M 6,000 6,000 0
02 OI2HCH &4 AF S HI 6,000 6,000 0
os&Jl X2 2,000,000 *13] 2,000
OMY X e HsT IAXANAE RIZ %
,000,000 x13] 4,000
N =E DA T AL 103,489 90,934 12,555
OHE =LA X AL 103,489 90,934 12,555
101 Q124 H] 34,489 31,934 2,555
04 JI2ZtHIZ22NEE S 34,489 31,934 2,555




2N N2

Ha: NFENE S5(LUIIYP /L0 yT)
EH
=

CHel: JHE LA T AL (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMNEFE AT AN EH L THUH 0l AF50%) 34,489
ool 38,880& x 10 « 130 x50% 25,272
o XX+ 38,8803 10«27 x50% 5,249
o=0AH=aS AHEE= 3,968,000 3,968
201 LBH2EH| 69,000 59,000 10,000
01 At 22l 65,000 55,000 10,000
OBt~ 65,000, 000& 65,000
02 2324gHl 4,000 4,000 0
OS=R=Z A A 4,000,000 4,000
Nel+=g &= 58,660 44,000 14,660
Ngo sEX28 2 22 58,660 44,000 14,660
201 2et24d] 11,400 11,400 0
01 At 22l 11,400 11,400 0
O R-Iget=:] 11,400, 000& 11,400
207 AR & H| 11,000 0 11,000
02 & A b 11,000 0 11,000
OMeI=ItaHZ HUEE 253 T2
- 11,000,000& 14! 11,000
303 L&t 3 5,000 5,000 0
01 243 5,000 5,000 0
OMY MA=+g AZiZ 5,000,000& 5,000
402 RIZ2FXt20l ™ 2,760 1,100 1,660
02 21 2HCH & A S HI 2,760 1,100 1,660
ON2A=g IIEAHIERAALE RAE >
230,000& 128 2,760
403 MtXISHHE A0l & 18,500 16,500 2,000
02 3|25 0l CH SHCH 2 At HI 18,500 16,500 2,000
OM2+=e FEANAHE RIE 4
18,500,000& 14 18,500
405 RHoHE S HI 10,000 10,000 0
01 AL EZFHSH 10,000 10,000 0
OUSAHIIFE 10,000,000 10,000
MRS (MR (L2 SHE /LSS - HERR) 2,000,000 2,000,000 0
EdXE 2,000,000 2,000,000 0
MRS 2,000,000 2,000,000 0
802 BHEt = JIEF 2,000,000 2,000,000 0
01 2 NE2x3eeEa 1,500,000 1,500,000 0
O=21Exz BEas 1,500,000, 000& 1,500,000
02 Al - EHIEXZSEHEZ 500,000 500,000 0




M N2
HH: WRES(HMRD)(LESS

el BEXE

02
0
~
=]
T
gg

HHY - THEXH)

SA BB O () - MM - HES 0l &+ o4 il
| | | OGHEXZ prat=z 500,000,0002! 500,000
#HNSA A (M) (IIEHIIE) 92,840 92,840
22l 92,840 92,840
DI 92,840 92,840
201 YLt A H| 8,000 8,000
01 At 2 el 8,000 8,000
CEIEIES= 1T 5,000,000 5,000
CEET] 3,000,000 3,000
202 01H] 80,640 80,640
01 2Ul 01 b 80,640 80,640
OBUZEZ b 240,0002 282 + 122 80,640
203 YR = b 4,200 4,200
04 EASYALEAY| 4,200 4,200
ORNM2YALET Y 350,0002 x 12 4,200




